
sum perc eff = / # pts% sum perc eff = / # pts%
Czech R 958 100% 34% 70 73 470 49% 364 100% 30% 25 26 159 44%
9 Zmrhal 49 5% 41% 3 5 28 57% 18 5% 17% 2 3 8 44%
14 Bartos 133 14% 31% 7 10 58 44% 51 14% 37% 2 1 22 43%
15 Dzavoronok 154 16% 31% 13 12 72 47% 56 15% 32% 4 2 24 43%
19 Michalek 147 15% 30% 10 13 67 46% 67 18% 16% 7 6 24 36%
2 Hadrava 76 8% 26% 6 8 34 45% 35 10% 23% 1 3 12 34%
10 Finger 229 24% 41% 15 16 124 54% 86 24% 33% 5 9 42 49%
1 Veselý 80 8% 34% 9 3 39 49% 25 7% 52% 2 0 15 60%
3 Beer 39 4% 44% 3 2 22 56% 11 3% 27% 0 2 5 45%
7 Holubec 32 3% 47% 1 3 19 59% 5 1% 80% 0 0 4 80%
8 Habr 12 1% -8% 3 1 3 25% 6 2% -17% 2 0 1 17%
16 Janouch 7 1% 57% 0 0 4 57% 4 1% 50% 0 0 2 50%

sum perc eff = / # pts% sum perc eff = / # pts% sum perc eff = / # pts%
Czech R 594 100% 37% 45 47 311 52% 592 100% 37% 45 47 310 52% 589 100% 37% 45 47 307 52%
9 Zmrhal 31 5% 55% 1 2 20 65% 31 5% 55% 1 2 20 65% 31 5% 55% 1 2 20 65%
14 Bartos 82 14% 27% 5 9 36 44% 82 14% 27% 5 9 36 44% 82 14% 27% 5 9 36 44%
15 Dzavoronok 98 16% 30% 9 10 48 49% 98 16% 30% 9 10 48 48% 98 17% 30% 9 10 48 49%
19 Michalek 80 13% 41% 3 7 43 54% 80 13% 41% 3 7 43 55% 78 13% 41% 3 7 42 54%
2 Hadrava 41 7% 29% 5 5 22 54% 41 7% 29% 5 5 22 54% 41 7% 29% 5 5 22 54%
10 Finger 143 24% 45% 10 7 82 57% 141 24% 45% 10 7 81 57% 141 24% 45% 10 7 80 57%
1 Veselý 55 9% 25% 7 3 24 44% 55 9% 25% 7 3 24 43% 54 9% 24% 7 3 23 43%
3 Beer 28 5% 50% 3 0 17 61% 28 5% 50% 3 0 17 61% 28 5% 50% 3 0 17 61%
7 Holubec 27 5% 41% 1 3 15 56% 27 5% 41% 1 3 15 56% 27 5% 41% 1 3 15 56%
8 Habr 6 1% 0% 1 1 2 33% 6 1% 0% 1 1 2 33% 6 1% 0% 1 1 2 33%
16 Janouch 3 1% 67% 0 0 2 67% 3 1% 67% 0 0 2 67% 3 1% 67% 0 0 2 67%

Útok

Útok po přihrávce Útok po přihrávce pozitivní Útok po přihrávce negativní

Útok po obraně


